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QUESTION 1

Given the following classes:

public class Enploves |
public int =alary;
H

public class Manager extends Employvse |
public int budget;

public clagss Director extends Managsr |
public int stockOptions;
1

And given the following main method:

public static veoild main(String[] args) |
Emplovee enployves = new Employes () ;
Manager manager = new Manager():
Director director = new Director{);
i kine:nl

Which two options fail to compile when placed at line n1 of the main method?
A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;

D. manager.budget =1_000_000;

E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Correct Answer: CE

QUESTION 2

Given the fragments:
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public class App |
String myStr = "7007";

public woid dofStuff (St-ing =tr) |

int myNum = 0;

try |
String myStr = str;
myMHum = Integer.parseInt (nvsStr);

¢+ catch (NumberFormatExcepticon ne) |
Bystem.err.println{"Error™) ;

I

System.out. println/(

"myStr: " 4+ myStr + ", myNum: " + myNum) ;
'

public static void main(String[] args) |
App ok] = new App (i
agby .. déB8tufE ("3009") ;

Which line causes a compilation error?
A. Line nl
B. Line n2
C. Line n3
D. Line n4

Correct Answer: A

QUESTION 3

Which statement will empty the contents of a StringBuilder variable named sb?
A. sb. deleteAll ();

B. sh. delete (0, sh. size () );

C. sh. delete (0, sb. length () );

D. sb. removeAll ();

Correct Answer: C
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QUESTION 4

Given the code fragment:
Arg is 2

What is the result?

A. Compilation fails.

B. The program compiles, but it prints nothing.

C. HiHowAreYou removed

D. An UnsupportedOperationException is thrown at runtime.

Correct Answer: C

QUESTION 5

Which code fragment cause a compilation error?
A. flat flt = 100F;

B. float flt = (float) 1_11.00;

C. float flt = 100;

D. double y1 = 203.22; floatflt = y1

E. int y2 = 100; floatflt = (float) y2;

Correct Answer: B
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